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M WEANE HE(+SLUE/HEWNS - 2FSIIE
Ciol: EEXAA BR(EE SEsH) GLEL!
A BB O(B) - NEAY - BAS Of o e Hl R =2
ERDED 322,198 288,900 33,298
Al 7,250
= 314,948
WEANE EF (3L WS/HELNE - EF]SIIE 145,481 124,304 21,177
Al 7,250
= 138,231
FENEAN S (F=XHE SE3) 145,481 124,304 21,177
Al 7,250
i 138,231
EHFEN XNE. &5 87,305 75,507 11,798
Al 7,250
= 80,055
201 L3y 65,055 57,907 7,148
01 AFR 22| 18,463 18,383 80
Ogtt=ZH| 10,650
O=Xtelet DM 7 60,0003 308 A 1,800
OF X8t AEIH M 110&*3,00024 330
OZetZglE e ¢ 1,000,000& 1,000
OoZctZelE 243 P2¢ 40,0003 x6H 240
O=&8X ZENEE 88 7,280
. MG 110220, 00004 x23| 4,400
., S 60,0003 1201 = &1 %43 2,880
o1l =l 813
Ot HAZFE 813
. B2 80,000& »2H x13] 160
. ot= 80,0003 »2H x13] 160
. YBt= 150,000 *2H *13| 300
. 223 30,0003 »2Z x23| 120
o =D 20,000 »2ZF 13| 40
. AE 16,5002 2H 12| 33
OF=E=i:] 7,000
QuUsSERFA E2L & FLFIEHS
7,000& x10Z 100 7,000
02 22234l 46,592 39,524 7,068
o0332= & MA 2,744
OFXHEXE A= ItAl 1,344
. SEHAEEA) 572,000 *2CH 1,144
. SENERY S 50,0003 »2CH 23] 200
OXN=HEEEE = 700,000& »2CH 1,400
O Xt & 8| 14,700
Os=M 1,420 3 152 | B x25 2 201 123 12,780
Os Xl 80,000& +x2CH=12& 1,920




22X E2nEN
M WEANE HE(+SLUE/UHELS
o FENEMN S (FUHE SEIAH)

S HE - S(EH) - NRAY - BES sk oy S 2
0f 4 o
OSJINN 22 & B2
1,750 %1,30021 123 27,300
OYYDNAN B& 2 BB
22027004+ 12& 1,848
202 O4Hl 14,000 14,000 0
01 =Wl 14,000 14,000 0
O2LHO bl 12,000,000& 12,000
O©2t2 o bl 2,000,000& 2,000
401 Al&HI LS04I 1,000 2,000 A 1,000
01 Al&H| 1,000 2,000 A 1,000
OFXH=EXE &M 1,000,000 *1CH 1,000
402 2I2H X201 7,250 0 7,250
Al 7,250
01 22 EX 7,250 0 7,250
OUHEF=TEHIIALY 7,250
og&a 4,000,000 4,000
Al 4,000
OzZEd™ 2,250,000& 2,250
Al 2,250
o=z 1,000,000& 1,000
Al 1,000
ol gl Bl 58,176 48,797 9,379
801 OllHIHl 58,176 48,797 9,379
01 olldldl 58,176 48,797 9,379
ooyl 58, 176,000& 58,176
HY2IGU(ZSZ2 S W) (OIEH/DIE 176,717 164,596 12,121
QIHAEH(F=UHESEIA)(=NHE SE3IH) 176,717 164,596 12,121
QIFARHEI(FXE SE3H) 176,717 164,596 12,121
101 el 174,689 162,830 11,859
02 JIEt&E 76,169 46,280 29,889
=0 40,583
OFIH(1738) 1,656,200& x 1+ 123 19,875
OFZH(1958) 1,725,600 x1E« 123 20,708
o4du= 40,581,600 %0.9/12& 3,044
OAZte 282 6,342 »45A| 2H+2H x 12 6,850
OP R 960
Ot &t 40,0003 x1E*12& 480
OZ& . Hl= 20,000 x2H 128 480
OF2Y JHit=3 1,920
O154 0] &~20 0] 2t 80,0003 x2H x12& 1,920
OFAZAHI 130,000& x2H 122 3,120
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Gl QHERAH(FUHEELSA)(=E SESIH) (etel: =3
A -3 -H2A(SH) - HEAMY - BES O AF K giﬂgfﬁ Hos
(OINE=3=EN, ] 120,000 »2H «12& 2,880
OZFEE S Jth| 40,581,600 *1/12%120% 4,059
OJtAH X & Hl 40,581,600& *16.7% 6,778
O ILE &I 40,581,600 *1/12x1/30x20 2,255
OXZEZHI 105,000 x2E 122 2,520
ouerg sl 50,0003 x2H +12& 1,200
03 RIHAZZ2NHE > 98,520 116,550 A 18,030
O=YFEI =2 (3Y) 74,830
OJlg=s 42,3003 *3H »253 32,106
O&n3 32,105,700& *4/12 10,702
Oxn224Y 12,270
. FY22 45,4402 *1.5+3% +30 6.135
., BYUAZF
45,4403 x1.5/8+20 A 2tx3H « 12 6,135
Osg=+g 45,4403 x3H x 112 15,268
Ogxt=g 45,4403 x3F 10 1,364
OJE=d 3,120
. IS X 40,0002 x3H 128 1,440
. E.HIH 20,0003 x7E«12& 1,680
O=2=ota3 286,000& «12& 3,432
OJtAH 2 =4I 32,105,700 »1/12%30/100%4 3] 3,211
(©InE=g| 5,000 *3H 253 3,795
o=l 5,000 *3H 253 3,795
OZE=JthI 400,000 »3H »23| 2,400
O=UAZ=RHS 79,680,000 *4.5% 3,586
O=0HLEEZ 79,680,000& *2.387% 1,902
OHM=+tl 1,290
Oct.s= 130,000& 3% »2&H 780
ogst= 150,000 & +3H 1 450
OZ 20,0003 »3F 14 60
OHM =t M2 279
Ol =t 30,0003 »3H »23| 180
OME 16,5003 3% *23| 99
304 A=FE3S 2,028 1,766 262
02 2AHLEES 2,028 1,766 262
OFRZTE IUHLEEE
76,169,000& *2.54% 1,935
OFRAZHE HIQUYSBEZ 1,935,000 *4.78% 93




